Test 1
3% ... =21 4 x ... =20 2 X ... =2 5X ... =20
1x... =9 2 X ... =10 7 X ... =21 4 x ... = 16

Test 1
3X ... =21 4 x ... =20 2 X ... =2 BX ... =20
1x.... =9 2 X ... =10 7 X ... =21 4 x ... = 16

Test 1
3x...=21 4x...=20 2X...=2 5x...=20
I1x...=9 2x...=10 7x...=21 4x...=16
8x...=16 8x...=64 3X...=9 5x...=10






Ix..=6 .. x2=20 7x...=21 4x..:=0
8x...=240 8x...=264 .. xb=256 .. x3=6
9x ... =54 6x...=36 9x...=72 6x..=42
...... x6=12 . X3=15 e X4:=8 9x...=90

Ix..=6 .. x 2 =20 7x...=21 4x...=0
8x...=240 8x...=264 .. xb=26 .. x3:=6
9x... =54 6x...=36 9x...=72 6x.. =42
...... x6:=12 e X 3=15 e X4=8 9x...=90

1x ... =6 .. x2=20 7 X ... =21 4 x .. =0
8 X ... =40 8 X ... =64 ... xb5=25 .. Xx3=6
9x.... = b4 6X... = 36 9x ... =72 6X.... = 42



Test 4
...... x1=0 8x...=64 2x...=10 8X..=8
7x...=70 .. x9=27 7Xx...=56 3%...=0
5x...=15 6x..:=54 .. x5=0 .. x2=18

...... x4:=-4 ...X2=16 . X7 =28 4x ...=20
Test 4

...... x1=0 8 X ... =64 2 x...=10 8X...=-8

7 X ... =70 . x9=27 7X... = b6 3% .. =0

5BX ... =15 6 X ... =bh4 .. xb=0 .. x2=18

...... x4:=-4 ...Xx2=16 e X7=28 4x...=20
Test 4

...... x1=0 8x...=-64 2x...=10 8xX...=8

7 X ... =70 .. x9=27 7 X ... = b6 3% .. =0

DX ... =15 6 X ... =54 . xb=0 .. x2 =18



Test 5
...... x10=10 8x...=24 1x...=7 2X...=18
3X.=3 .. x6=18 7X%...=49 5x ...=50
6x...=60 6x..=36 .. x8=0 .. x4:=16

...... x9=72 ...x3=30 .. X7 =3b 3X..=9
Test 5
...... x10=10 8X...=24 1x..=7 2x .. =18
3X.. =3 ... x6=18 7 X ... = 49 B5X ... =50
6X.... = 60 6Xx.... =36 ... x8=0 .. x4:=16

...... X9=72 ...x3=30 .. X7 =3D 3X...=9
Test 5

...... x 10 =10 8x...=24 1x...=7 2 X ...=18

3X ... =3 ... x6=18 7 X ... = 49 DX ... = h0

6X.... = 60 6X... =36 .. x8=0 .. x4:=16



...... x4 =20 8x...=64 I1x..=2 1x..=5
6x...=48 .. x3=6 2X...=8 6x...=24
8x...=48 2x...=10 .. x6=30 .. x4=0
9x...=18 4x...=16 9x...=81 7x...=70
...... xb=25 e X 9227 e X0=0 3x...=30
Takles de. et £
...... x4 =20 8x...z=64 Ix...=2 1x...=5
6x..=48 .. x3=6 2X...=8 6x...=24
8x... =48 2x...=10 .. x6=30 .. x4:=0
9x...=18 4x...=16 9x...=81 7x...=70
...... xb=25 e X 9227 .. x0=0 3x...=30
I de Test ©
...... x4:=20 8x...=64 I1x..=2 1x..=5
6x..=48 .. x3=6 2X...=8 6x...=24
8x...=48 2x..=10 .. x6=30 .. x4=0
9x...=18 4x..:=16 9x...=81 7x...=70



...... x3=15 2x...=16 1x..=1 9x...=81
3X ... =9 ... x7 =21 9x ... =63 3X... =24
4 x ... =40 3% .. =21 ... x9=9 ... x4:=24

...... x 8 =56 .. X9=90 . X6 =36 3x..=27
...... x3=15 2x...=16 1x...=1 9x...=81
3% ... =9 ... x7 =21 9x ... =63 3% ... =24
4 x ... =40 3X ... =21 ... x9=9 ... x4 =24

...... x 8 =56 .. X9=90 . X6 =36 3X...=27
...... x3=15 2 X ...=16 1x...=1 9x...=81
3X ... =9 .. x7 =21 9x .. =63 3X.. =24
4 x .. =40 3X ... =21 ... x9=9 .. x4 =24









Tahles de wuxﬂwp&mﬂ@m Test -

...... x10=100 8x...:=6 T
3% ... =27 .. X 6=48 7 X ... = 35 BX ... =25
9x... =27 6X... =30 ... x3=0 .. x4 =20

Test 10
...... x10=100 8x....=64 2X...=16 2X...=4
3X...=27 .. x6=48 7X%...=35 5x...=25
9x...=27 6x..=30 .. x3=0 .. x4:=20

Test 10
...... x10=100 8x...=64 2X...=16 2X...=4
3X...=27 .. x6:=48 7x...=35 5x..=25
9x...=27 6x..=30 .. x3=0 .. x4 =20



